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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Trend plot forP3-11_0
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P3-11

BYIE) | BRI (F)) | S (EAH/ER) | EBREE (B/R) | XK ERR

07:40 283 150.0 2.888 [/Zig| FaHA@O7:40 KEIEF (KAfEREE)
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P3-11

BYiE) | GEBERTIC (RD) | EBE (BAH/FK) | BREE (BF/R) | X8 ERE
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07:50 283 150.0 2.888 |Z=| 1BRi&e07:50 Bzh (RAERE)
08:55 283 150.0 2.888 |Z=| {Ri&e08:55 Bzl (KREERHE)
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